MATHS
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(ENGLISH)

DIVISION OF ALGEBRAIC
EXPRESSIONS



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1. determine whether following are polynomial

2 2

¢ 22 3L 4. 5
or no 3 5 T
3
%—3w2—|—5m%—|—az—1

(2)

° Watch Video Solution

5
2. 32z +4x’y+ 8y — 5333/2 is

polynomial in two variables z and y .

o Watch Video Solution



https://dl.doubtnut.com/l/_WB8cL1MvydFT
https://dl.doubtnut.com/l/_DoUqgYNaQXm0

3. determine the degree of following (1)2x + 3

2 2
(2)222 — 3z + % (3)2% _ 7% +4

o Watch Video Solution

4, determine the degree (1)

2y

3zt — 223y + Txy® — 3z T

o Watch Video Solution



https://dl.doubtnut.com/l/_re9rIqxhtZZE
https://dl.doubtnut.com/l/_EiUMfCrm3riH

5. 2 5 1+3 2+ 3a et li
. 1% 3 5y, a etc. are linear

polynomials True/False ?.

o Watch Video Solution

3 1
6.20" — 3z +4, 2—z +2%, ' — Sy+

are quadratic polynomials.

o Watch Video Solution



https://dl.doubtnut.com/l/_W6NcFQQ31gPE
https://dl.doubtnut.com/l/_lnePTOnCA5LZ

1 3
7. 3 — 72?4+ 2z — 3, 2—|—§y—§y2—|—4y3

are cubic polynomials True/False ?.

o Watch Video Solution

2 2134

8. 3:1:4—7:133—#:132—:13—1—9,4—2%4—3?

are biquadratic polynomial

o Watch Video Solution



https://dl.doubtnut.com/l/_i2l5h76Ann4v
https://dl.doubtnut.com/l/_rnoqZKdH7Pze

9. Write the degree of each of the following
polynomials : 222 + 5x% — 7 (ii) 5z% — 3z + 2

2r + 2 — 8

o Watch Video Solution

10. Write the degree of each of the following
ynomials : —y7 — 124° °—10 (ii
polynomials : —y Yy + 48y 10 (i)

32% + 15 (iv) 202 + 122%y% — 10y® + 20

o Watch Video Solution



https://dl.doubtnut.com/l/_ICn3AbZYb6g1
https://dl.doubtnut.com/l/_GN2OADxDbRJk
https://dl.doubtnut.com/l/_o6iXJAqsF47S

11. Which of the following expressions are not

polynomials? z* + 2z~ % (i) vazx + r? — 23
3y — By +9  (iv) ax: + ax + 922 4+ 4

3z 2+ 22 144z +5

o Watch Video Solution

12. Write each of the following polynomials in
the standard form. Also write their degree:
2’ + 3+ 6z + 5z (i) a®+4+5a° (i)

(333 — 1) (:c3 — 4) (iv) (y3 — 2) (y3 + 11) (v)


https://dl.doubtnut.com/l/_o6iXJAqsF47S
https://dl.doubtnut.com/l/_pWIvMg3HuaYv

(*-3)le7) e
D8

o Watch Video Solution

13. Divide 12z%y3by 322y (ii) — 15abc’ by 3ab

o Watch Video Solution

14. Divide: 25z°y* by— 1522y (ii) — 72z%yz by

—12zyz

l ° Watch Video Solution


https://dl.doubtnut.com/l/_pWIvMg3HuaYv
https://dl.doubtnut.com/l/_2XwlWtyGWHF9
https://dl.doubtnut.com/l/_nn0nSPB0UC9M

15. Divide: 6z3y? 22 by 3z2yz (2) 15m2n’ by
5m?n® (3)24a°b® by—8ab (4) —21abc® by

Tabc

° Watch Video Solution

16m3y? 2) 32m?2n3p?
4m2y dmnp

16. Simplify:

o Watch Video Solution



https://dl.doubtnut.com/l/_nn0nSPB0UC9M
https://dl.doubtnut.com/l/_V8j2zaSaWY53
https://dl.doubtnut.com/l/_u6xq69ZmeNXa

17. Divide: 9m® + 12m* — 6m? by 3m? (2)

24>y + 20z°y* — 4xy by 2zy

o Watch Video Solution

18. Divide: 6ztyz — 3zy’z + 8z2yz2yz* by

2 4 1
2rYyz ga,zbzc2 + gabzc‘o’ — gab?’c2 b
L b
y 5abe

o Watch Video Solution



https://dl.doubtnut.com/l/_MXER15ZbgqwN
https://dl.doubtnut.com/l/_G28nkkRjnITt

19. Divide: (i)z + 2z2 + 3z* — z° by 2z, (i)

1
y* — 3y° + 5?/2 by 3y

o Watch Video Solution

20. Divide: —4a® + 4a” + a by 2a’

o Watch Video Solution

21. Divide: 52° —62° +7z by 2z (i)

V3a* + 24/3a’ + 3a* — 6a by 3a



https://dl.doubtnut.com/l/_afHWkJnPD8pz
https://dl.doubtnut.com/l/_POgDly5zmlvB
https://dl.doubtnut.com/l/_WTIcAiSMksvQ

o Watch Video Solution

22.Divide: 6 + = — 4z® + z° by = — 3.

o Watch Video Solution

23. Divide: the polynomial

2¢* + 8z + Tx? + 4z + 3 by x + 3.

o Watch Video Solution



https://dl.doubtnut.com/l/_WTIcAiSMksvQ
https://dl.doubtnut.com/l/_3jWXNuTpNIZJ
https://dl.doubtnut.com/l/_etCDYFLlXOHF

24. Divide:

3 — 6> + 11z — 6by z° — 4z + 3

° Watch Video Solution

25. Divide:

10z + 1723 — 622° + 30z — 3by2z® + 7z — 1

o Watch Video Solution



https://dl.doubtnut.com/l/_UTrJj3cM47vm
https://dl.doubtnut.com/l/_01ocUAoXBqwK

26. Using division show that 3y® + 5 is factor

of 6y° + 15y* + 16y° + 4y® + 10y — 35.

° Watch Video Solution

27. Divide:
3y° + 6y* + 6y + Ty? + 8y + 9 by 3y® + 1
and verify that

divided = divisor X quotient 4+ remainder

o Watch Video Solution



https://dl.doubtnut.com/l/_po1RZ5kgqL1V
https://dl.doubtnut.com/l/_NG3lbITqo3RM
https://dl.doubtnut.com/l/_pJc8b7EvqVwt

28. What must be subtracted from
8zt 4+ 142% — 222 + 7Tx — 8 so that the

resulting polynomial is exactly divisible by

4z* + 3z — 2.

° Watch Video Solution

29. Find the values of a and b so that
2 +2° + 82 +ax+b is divisible by

2 + 1.

° Watch Video Solution



https://dl.doubtnut.com/l/_pJc8b7EvqVwt
https://dl.doubtnut.com/l/_gMbq3CjeP3qW

30. Divide: 5z — 1522 + 25z by bz

1
42° 4+ 62° — z by — 5%

o Watch Video Solution

31.  Divide: 3z°y® + 22%y + 15zy by 3zy

2?2+ Te + 12byx + 4

o Watch Video Solution



https://dl.doubtnut.com/l/_jSWyOCI9ueOD
https://dl.doubtnut.com/l/_AffT1QjcPw88

32. Divide: 3z + 4z? + 5z + 18byx + 2 &

142* — 53z + 45 by Tz — 9

o Watch Video Solution

33. Divide:
3y' —3y° — 4y’ — 4y’ — 4y —byy® — 2y

2y° + 10y* + 6> + y* + 5y + 3by 2y° + 1

o Watch Video Solution



https://dl.doubtnut.com/l/_KGnKljAK6pLH
https://dl.doubtnut.com/l/_WkYNbIjkteLs

34, Divide:
m? — 14m? + 37m — 26 by m? — 12m + 13

e+ 22+ 1y’ + 2+ 1

o Watch Video Solution

35. Divide each of and find the quotient and

remainder: 14z® — 52 + 9z — 1 by 2z — 1

o Watch Video Solution



https://dl.doubtnut.com/l/_ZEzW3ldWdRTn
https://dl.doubtnut.com/l/_H93SdvX3PpJf

36. Divide each of and find the quotient and

remainder: 6z° — z° — 10z — 3by 2z — 3

° Watch Video Solution

37. Divide each of and find the quotient and
remainder:

62> + 1122 — 39z — 65 by 32> + 13z + 13

° Watch Video Solution



https://dl.doubtnut.com/l/_MKGLrIxMNR2A
https://dl.doubtnut.com/l/_YmMuGPHMOc1Y

38. Divide each of and find the quotient and
remainder:

30zt + 1123 — 8222 — 122 + 48 by 3z + 2z — 4

o Watch Video Solution

39. Divide the polynomial

p(z) = z* — 3z + 42 + 5 by the polynomial
y y

2

g(x) =z —x+1 and find quotient and

remainder.

° Watch Video Solution



https://dl.doubtnut.com/l/_cT3HzEfji2BJ
https://dl.doubtnut.com/l/_tpthku6dAQM5

40. Verify division algorithm i.e. Dividend =
Divisor x Quotient + Remainder, in each of the

following . Also write the quotient and

remainder: 14z* + 13z — 15 by 7z — 4

o Watch Video Solution

41. Divide
4 3 , 10 2
15y~ + 16y —I—?y—Qy —6 by 3y — 2.

Write down the coefficients of the terms in the

quotient.


https://dl.doubtnut.com/l/_tpthku6dAQM5
https://dl.doubtnut.com/l/_idEhTttA99gj
https://dl.doubtnut.com/l/_OxRqSrOWy4mj

° Watch Video Solution

42. Using division of polynomials state

whether  + 6is fac — rof 2* — z — 42"

o Watch Video Solution

43. Find the value of a, if x + 2 is a factor of

4z* + 223 — 323 + 8z + 5a.

° Watch Video Solution



https://dl.doubtnut.com/l/_OxRqSrOWy4mj
https://dl.doubtnut.com/l/_Oui77K4qW1cV
https://dl.doubtnut.com/l/_llaTpOQdCGwv
https://dl.doubtnut.com/l/_jyCLxWvB3bCx

44, What must be added to
z* + 223 — 22° + = — 1 so that the resulting

polynomial is exactly divisible by z* + 2z — 3.

° Watch Video Solution

45. Divide z* — 2° +z? + 5by(z + 1) and

write the quotient and remainder.

o Watch Video Solution



https://dl.doubtnut.com/l/_jyCLxWvB3bCx
https://dl.doubtnut.com/l/_d0S5rzbi8E8N

46. Divide:
162* + 1223 — 102> + 8z + 20 by 42 — 3.

Also write the quotient and remainder.

o Watch Video Solution

47. Divide 12z° — 8z — 6z + 10 by (3z — 2).

Also, write the quotient and the remainder.

o Watch Video Solution



https://dl.doubtnut.com/l/_s0vUGFkRUfZv
https://dl.doubtnut.com/l/_rmBqkmLmDyJG

48. Divide 8y° — 6y° + 4y — 1 by 4y + 2. Also

write the quotient and the remainder.

o Watch Video Solution

49, Divide:

23 — 622 + 11z — 6by z? — 4z + 3

o Watch Video Solution



https://dl.doubtnut.com/l/_sqldabLpuGbv
https://dl.doubtnut.com/l/_QZsKcSMktwNm

50. Divide the first polynomial by the second
polynomial in each of the following. Also ,
write  the quotient and remainder:
3z +4x +5, ¢ — 2 (ii)

102> — 7z + 8, 5z — 3

o Watch Video Solution

51. Divide the first polynomial by the second

polynomial in each of the following. Also ,


https://dl.doubtnut.com/l/_w0rBCSAggOHi
https://dl.doubtnut.com/l/_NkBcPgvg8Yu2

write  the quotient and remainder:

2t — 23 + bz, © — 1Gi)y* + 2, y?, — 2

° Watch Video Solution

52.Find , whether or not the first polynomial is

a factor of the second: z + 1, 2z% + 5z + 4

y—2, 3y°+5y° +5y+2°

° Watch Video Solution



https://dl.doubtnut.com/l/_NkBcPgvg8Yu2
https://dl.doubtnut.com/l/_qMPTIqVGav4p

53.Find , whether or not the first polynomial is
a factor of the second: 4 — z, 322 — 132+ 4

(i) 2a — 3, 10a® — 9a — 5

o Watch Video Solution

54.Find , whether or not the first polynomial is
a factor of the second: 4 — z, 322 — 132+ 4

(i) 2a — 3, 10a® — 9a — 5

o Watch Video Solution



https://dl.doubtnut.com/l/_gyheKrDfVM9N
https://dl.doubtnut.com/l/_Ce8grlrLwuLA
https://dl.doubtnut.com/l/_E6c2uAV3nfLx

55.  Divide:  35a%+32a —99byTa — 9

az® + (b+ac)z +bcbyx + ¢

o Watch Video Solution

56. Divide (a4 — b4) by a - b and find the

quotient and remainder .

o Watch Video Solution



https://dl.doubtnut.com/l/_E6c2uAV3nfLx
https://dl.doubtnut.com/l/_DIkr7OvzqrM9

57. Divide:

a12 _|_a6b6 4+ 612 by aﬁ . a3b3 —|—b6

o Watch Video Solution

58. Divide:

m4a_|_m2ay2b_'_y4b by CBZG—I— 2% yb_|_ y2b

o Watch Video Solution



https://dl.doubtnut.com/l/_BnNk9U1SLJDV
https://dl.doubtnut.com/l/_ON0fBalIe6AT

59. Divide: z?— 5z + 6byx — 3

az’ — ay’by az + ay

(i)

o Watch Video Solution

60. Divide: zt — ytby 2% — o?

acz® + (bc + ad)z + bd by (az + b)

(ii)

o Watch Video Solution



https://dl.doubtnut.com/l/_Xkt3QDzdgxmh
https://dl.doubtnut.com/l/_XfKwaoHx3kTI

61. Divide:

(a2 + 2ab + b2) — (a2 + 2ac—|—c2)by2a +b+c

o Watch Video Solution



https://dl.doubtnut.com/l/_EovXLaiDF524

